[image: ]
[bookmark: _GoBack][image: ]
image1.png
e e T BN Aome

r
for A maris e
MAGNIFICATION
The following problems use as basic information:
Ocular Objective Diameter of Field
Low power field 10 X 4 Aum
Medium power field 10 x 10 Am
High power field 10 X 40 Am

1. A cell ig observed to stretch ¥ way across the high power
field. How long is it in «m, mm and cm? o
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2. A euglena is observed to swim across the low power field in

5 seconds. Calculate its speed in/.(m/sec. L
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3. Paramecum take up the whole diameter of the medium field.
How long is one paramecum in #m and mm?
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4. A ball point pen line is estimated at - the diameter of the
low power field. Calculate its width i sxm and mm.
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5. A paramecum swims across the medium field in 4 seconds.”
Calculate its speed inum/sec.
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6. 40 leaf cells are counted across the medium field. Ome
cell is drawn 8 cm long on a paper by a student. Find the
magnification of the drawing. s Cem KCO&'UW .
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7. A cell is observed to be —— the length of the high power
field diameter. How long ?s the cell in cam md mm.
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Block:
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Ocular Objective Field Diameter
Low Power 10X 4X 4.5mm
Medium Power 10X 10X 1.8mm
High Power 10X 40X 0.45mm
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2) What is the total power of the microscope on high power? “4t0 X

3) A cell stretches Y way across the field on hlgh power. How long is the cell?
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4) On low power, if the actual size of the organism is 2.25mm and your drawing is 13.5mm,
what is the drawing magmﬂcanon" M= ﬁ ">_,=.1 A o o >< X
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5 A paramecium swims across the low power field in 16 seconds Calculate its speed in
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6) Seventy bacterial cells are counted across the high power ﬁeld One cell is drawn 2mm
5O =
across by a student. What is the drawing magmﬁcaﬂon" /D q) " =3 ,,.m/l:
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